RISK CONSE- PROBABI- MEASURES MEASURES RESPONSIBLE
(WHAT COULD | QUENCEC | LITYP C*P | THATREDUCE | THAT REDUCE FOR MEASURE
GO WRONG?) (1-5) (1-5) P K
Henriette's 3 2 6 We must Throughout Leerke
attire or ensure that the wedding,
appearance the clothes are | we must carry
does not live purchased well | a package with
up to the in advance. We | safety pins,
two mothers’ must reserve extra stockings
expectations. plenty of time and cosmetics.
for getting
dressed, hair,
makeup, etc.
Igor gets into 3 3 9 We must If a quarrel Henriette
an argument ensure that occurs, we
with Henriette's Igor does not must create a
parents, who have too much diversion.
he suspects to drink and Henriette must
look down on does not start control Igor
him. arguing with and ensure
Henriette's he does not
parents. get drunk or
argue. The
diversion has
been agreed
to Henriette
embracing him
and pulling him
outside where
she kisses him
and tells him
how much she
loves him.
Tine as the 4 2 8 Tine must The four Henriette, Igor,
project man- give project project and Laerke
ager misses management members must
something top priority regularly have
when planning for the three project group
or fails during weeks the meetings, and
the execution project lasts. Tine must
of the project, She must bring | openly share
for example, by her book The the plans,
failing to follow core of project S0 everyone
up properly. management knows what to
everywhere do. That way,
and use it the others
diligently. may intervene
if Tine should
overlook
something or
otherwise fail.
Leerke loses 2 3 6 Tine must be Tine has to Tine
faith in herself careful when keep an eye on
or gets dis- she delegates Leerke, so she

tracted by, for
example, her
cell phone, so
that she does
not properly
perform the
tasks she is
responsible for.

tasks to Leerke,
and she must
follow up.

can intervene
if Leerke fails.




